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You may NOT use your notes OR your Bible for this test. If you don’t understand the question, come ask!

Short Answer and Fill in the Blank

1) Anglicanism is based on questions of Ciuk hO r‘u\-v\ /\\5ﬁ36&\\0(5“"" rather than theology.
S —_— I J
2) Scoptrue |

CAATING , and Kfﬁsgvx guide interpretation and application of
theological issues in the Anglican Church.

S
3) The archbishop of Canterbury is primus inter pares, which means 'F“\(S.Y C%W‘»:W} étc,:cab

’

among all the primates (archbishops) of all the members of the Anglican Communion.

4) Something which is neither commanded nor forbidden by Holy Scripture is called __ (Ci Q\;CA@\’\W’Q

5) Lutherans are the first Protestants, because:
a. Martin Luther nailed the 95 Theses to the church door in Wittenberg in the year ‘\ 5) g
b. The Archbishop of Canterbury went against the wishes of the Roman Catholic Pope and annulled the
King of England’s first marriage and blessed his second marriage in the year. l ‘53 § , the same
year the King of England and the Archbishop of Canterbury were excommunicated from the Roman

Catholic Church.

6) The Anglican Church decides what is theologically right and wrong by choosing the VG Y"\fﬂ?\‘(“ ,

which in English means “middle way.”

Multiple Choice (circle ONE answer)
7) “Concord” means:
a. School, university
@ Harmony, agreement, unity
c. Defense, explanation
d. Debate, trial, general assembly

8) “Diet” means (when referring to the events of Martin Luther):
a. School, university
b. Harmony, agreement, unity
c. Defense, explanation
@ Debate, trial, general assembly

9) “Apology” means (when referring to theological writings):
a. School, university
b. Harmony, agreement, unity

Defense, explanation
G

. Debate, trial, general assembly

10) Which of the following is NOT one of the four parts of the Anglican Church’s Chicago-Lambath Quadrilateral?
a. Scripture
‘7\
@ The Book of Concord
c. Apostles and Nicene Creeds
d. Bishops



11) The first Book of Common Prayer was written in the year 1549 by
a. ) Thomas Cranmer

b. Maryl
c. Elizabeth|
d. Henry VI

True or False (circle ONE)
1 rue > False King Henry VIll needed special permission from the Pope to marry his brother’s widow
13) True alse? The Queen Elizabeth is currently the head of the Anglican Church
14 True >

False  Henry VIII's first wife was Catherine of Aragon

False  Several of Henry VIlI’'s wives were replaced because they could not produce a son
16 True) False Mary | was a Roman Catholic and tried to restore England to Roman Catholicism
@ Elizabeth | was a Roman Catholic and tried to restore England to Roman Catholicism
True ™y False  Anglican theology is a result of reflection, compromise, toleration, and synthesis

> False The LCMS in America and the LCMU in Uganda both speak against homosexuality
'y False Bread and wine and Christ’s body and blood are all present in Holy Communion

False A man who was baptized only to get a woman had a valid baptism, even
though he was deceiving the pastor and did not really believe

Open-Ended Questions
(bullet-points are fine if they answer the question - full sentences are not necessary)

22) List some reasons why the Anglican Church has both Catholic and Protestant traits.

23) A friend tells you that the Lutheran Church is a new Church. How will you respond to him?



